(c) Show Room Rent.
(d) Printing and Stationery.
(e) réciation on office furniture.
(11) On the basi@ eability to product:
(a) Factory S

“(b) TelephOne

(C) Carriage Outwar@ \S\

(d) Direct Wages.

(e) cutoms duty on purchases O

(iii) On the basis of behaviour to change in activity:

(a) Insurance:

(b) Raw Materials Purchased.
(C) Rent of Office Building.

(d) Supervisor's Salary.
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ction Rs.14,00,000 @ normal capacity
~ Selling & Administation Rs.4,450,000@ normal capacity

: ﬂéxiblexbudget & indicate which of the 3 level is most profitable.

Product X is obtained after it passes through three distinct processes. You are req

¢ Process accounts from the following information. Vo) *
; r‘ Process b
Total | 11 111
. Rs. Rs. Rs. Rs.
Material 15,084 5,200 3,960 5,024
Direct Wages 18,000 4000 6,000 8,000 S
Production overheads 18,000 A

1,000 units @ Rs.6/- per unit were introduced in process 1.
Production overhead to be distributed as 100% on direct wages.

; Value of
Process Actl.'alumt Normal Loss | Scrap per unit
(Units) Rs
Process | 1950 5% 4
Process 11 840 10% 8
Process 111 S lia80 15% 10

OR

~ Q3. A Contractor who secured a contract for a total contract value of Rs.30,00,000/- submits
L the following information for the year ending 31* December, 1989. (15)

Work on the contract started on 1.1.89

Rs.
Plant and Machinery sent to contract 2,80,000
Materials, Stores and Spares 8,00,000
: Wages 6,00,000
~ Sundry Expenses 1,20,000

Establishment Expenses : 1,60,000

inery costing Rs.80,000/- was found unsuitable for the cpn_'

- mach |
0,000/-. The .

value of the remaining plant and machinery on 3
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